

Memoirs on Differential Equations and Mathematical Physics

VOLUME 69, 2016, 43–52

Mousa Jaber Abu Elshour

ON A CLASS OF NONLINEAR NONAUTONOMOUS
ORDINARY DIFFERENTIAL EQUATIONS OF n -TH ORDER

Abstract. Asymptotic representations of solutions of nonautonomous nonlinear ordinary differential n -th order equations that are close, in a certain sense, to linear equations are established.

2010 Mathematics Subject Classification. 34D05.

Key words and phrases. Ordinary differential equations, nonlinear, nonautonomous, asymptotic solutions.

რეზიუმე. n -ური რიგის არავტონომიური არაწრფივი ჩვეულებრივი დიფერენციალური განტოლებებისთვის, რომლებიც გარკვეული აზრით ახლოს არიან წრფივ განტოლებებთან, დადგენილია ამონახსნების ასიმპტოტური წარმოდგენები.

1. INTRODUCTION AND PRELIMINARIES

Consider the differential equation

$$y^{(n)} = \alpha_0 p(t)y |\ln |y||^\sigma, \tag{1.1}$$

where $\alpha_0 \in \{-1, 1\}$, $\sigma \in \mathbb{R}$, $p : [a, \omega[\rightarrow]0, +\infty[$ is a continuous function, $-\infty < a < \omega \leq +\infty$ ¹.

A solution y of the equation (1.1) is called a $P_\omega(\lambda_0)$ -solution, if it is defined on the interval $[t_y, \omega[\subset [a, \omega[$, and satisfies the conditions:

$$\lim_{t \uparrow \omega} y^{(k)}(t) = \begin{cases} \text{either} & 0, \\ \text{or} & \pm\infty \end{cases} \quad (k = 0, 1, \dots, n-1), \quad \lim_{t \uparrow \omega} \frac{(y^{(n-1)}(t))^2}{y^{(n)}(t)y^{(n-2)}(t)} = \lambda_0. \tag{1.2}$$

For each such solution, the representation $y(t) |\ln |y(t)|| = |y(t)|^{1+o(1)} \text{sign } y(t)$ as $t \uparrow \omega$, holds. Therefore, when we study these solutions, the equation (1.1) is asymptotically close to linear differential equations

$$y^{(n)} = \alpha_0 p(t)y, \tag{1.3}$$

such asymptotic behavior of solutions has been studied extensively (see, e.g., [9, Chapter 1]).

For $n = 2$ and any $\sigma \in \mathbb{R}$, asymptotic behavior as $t \uparrow \omega$ of all possible types of $P_\omega(\lambda_0)$ -solutions of the differential equation (1.1) was studied in [1, 2, 3, 5, 7].

We introduce the following auxiliary notation:

$$a_{0k} = (n - k)\lambda_0 - (n - k - 1) \quad (k = 1, \dots, n) \quad \text{for } \lambda_0 \in \mathbb{R},$$

$$\pi_\omega(t) = t - \omega, \quad \text{if } \omega < +\infty,$$

$$I_A(t) = \int_A^t [\pi_\omega(\tau)]^{n-1} p(\tau) d\tau,$$

$$A = \omega, \quad \text{if } \int_a^\omega |\pi_\omega(\tau)|^{n-1} p(\tau) d\tau < +\infty.$$

The following theorem concerning the differential equation (1.1) has been established in [4].

Theorem 1.1. *Let $\sigma \neq n$ and $\lambda_0 \in \mathbb{R} \setminus \{0, \frac{1}{2}, \frac{2}{3}, \dots, \frac{n-2}{n-1}, 1\}$. Then for the existence of a $P_\omega(\lambda_0)$ -solution of the equation (1.1) it is necessary, and if the inequality*

$$\sigma \neq a_{01} \left(1 + \sum_{k=1}^{n-1} \frac{1}{a_{0k}} \right) \tag{1.4}$$

holds and the algebraic equation

$$\prod_{j=1}^{n-1} (a_{0j} + \rho) + \sum_{k=1}^{n-1} \prod_{j=1}^{k-1} (a_{0j} + \rho) \prod_{j=k+1}^{n-1} a_{0j} = 0 \tag{1.5}$$

with respect to ρ has no roots with zero real part, then it is sufficient for the inequality

$$\alpha_0 \left(\prod_{k=1}^{n-1} a_{0k} \right) [(\lambda_0 - 1)\pi_\omega(t)]^n > 0 \quad \text{for } t \in [a, \omega[, \tag{1.6}$$

and the conditions

$$\lim_{t \uparrow \omega} p^{\frac{1}{n}}(t) |\pi_\omega(t)| \left| \frac{n - \sigma}{n} J_B(t) \right|^{\frac{\sigma}{n-\sigma}} = \frac{|a_{01}|}{|\lambda_0 - 1|} \left(\frac{\prod_{k=1}^{n-1} |a_{0k}|^{\frac{1}{n}}}{|a_{01}|} \right)^{\frac{n}{n-\sigma}},$$

¹ We assume that $a > 1$ for $\omega = +\infty$, and $\omega - a < 1$ for $\omega < +\infty$.

to take place. Moreover, each of these solutions admits the following asymptotic representations as $t \uparrow \omega$:

$$\ln |y(t)| = \nu \left(\frac{|a_{01}|}{\prod_{k=1}^{n-1} |a_{0k}|^{\frac{1}{n}}} \right)^{\frac{n}{n-\sigma}} \left| \frac{n-\sigma}{n} J_B(t) \right|^{\frac{n}{n-\sigma}} [1 + o(1)], \quad (1.7)$$

$$\frac{y^{(k)}(t)}{y^{(k-1)}(t)} = \frac{a_{0k}}{(\lambda_0 - 1)\pi_\omega(t)} [1 + o(1)] \quad (k = 1, \dots, n-1), \quad (1.8)$$

where

$$\nu = \text{sign} [a_{01}(\lambda_0 - 1)(n - \sigma)\pi_\omega(t)J_B(t)].$$

In addition to these conditions, if the algebraic equation (1.5) has the m -roots (including multiples), the real parts of which have a sign opposite to the sign of the function $(\lambda_0 - 1)\pi_\omega(t)$ on the interval $[a, \omega[$, and the inequality

$$\left(\frac{\sigma}{a_{01}} - 1 - \sum_{k=1}^{n-1} \frac{1}{a_{0k}} \right) \left(1 + \sum_{k=1}^{n-1} \frac{1}{a_{0k}} \right) > 0$$

is satisfied, then the equation (1.1) has m -parametric family of solutions with the representations (1.7) and (1.8), and when the opposite inequality holds, it has $m + 1$ -parametric family of such solutions.

From this theorem the following corollary for the linear differential equation (1.3) is obtained.

Corollary 1.1. *For the existence of $P_\omega(\lambda_0)$ -solution of the equation (1.3), where $\lambda_0 \in \mathbb{R} \setminus \{0, \frac{1}{2}, \dots, \frac{n-2}{n-1}, 1\}$, it is necessary, and if the algebraic equation (1.5) with respect to ρ has no roots with zero real part, then it is sufficient that the inequality (1.6) and the condition*

$$\lim_{t \uparrow \omega} p(t)\pi_\omega^n(t) = \frac{\alpha_0 \prod_{k=1}^{n-1} a_{0k}}{(\lambda_0 - 1)^n} \quad (1.9)$$

are satisfied. For each of these solutions the asymptotic representations

$$\ln |y(t)| = \frac{\alpha_0(\lambda_0 - 1)^{n-1} I_A(t)}{\prod_{k=2}^{n-1} a_{0k}} [1 + o(1)], \quad (1.10)$$

$$\frac{y^{(k)}(t)}{y^{(k-1)}(t)} = \frac{a_{0k}}{(\lambda_0 - 1)\pi_\omega(t)} [1 + o(1)] \quad (k = 1, \dots, n-1), \quad (1.11)$$

take place as $t \uparrow \omega$. Moreover, if in addition to these conditions, the algebraic equation (1.5) has the m -roots (including multiples), the real parts of which have a sign, opposite to that of the function $(\lambda_0 - 1)\pi_\omega(t)$ on the interval $[a, \omega[$, then for the equation (1.1) there exists $m + 1$ -parametric family of solutions with the representations (1.10) and (1.11).

We note that this corollary refers to the case where the differential equation (1.3) is asymptotically close to the Euler equations.

If

$$\lim_{t \uparrow \omega} p(t)\pi_\omega^n(t) = c_0 \neq 0$$

and the next algebraic equation with respect to λ_0

$$c_0(\lambda_0 - 1)^n = \alpha_0 \prod_{k=1}^{n-1} [(n - k)\lambda_0 - (n - k - 1)],$$

which we obtain from (1.9) by taking into account the inequality (1.6), has n distinct real roots λ_{0j} ($j = 1, \dots, n$), then the fundamental system of solutions y_j ($j = 1, \dots, n$) of the differential equation (1.3) admits as $t \uparrow \omega$ the following asymptotic representations:

$$\ln |y_j(t)| = \frac{\alpha_0(\lambda_{0j} - 1)^{n-1} I_A(t)}{\prod_{k=2}^{n-1} [(n-j)\lambda_{0j} - (n-j-1)]} [1 + o(1)],$$

$$\frac{y^{(k)}(t)}{y^{(k-1)}(t)} = \frac{(n-j)\lambda_{0j} - (n-j-1)}{(\lambda_{0j} - 1)\pi_\omega(t)} [1 + o(1)] \quad (k = 1, \dots, n-1; \quad j = 1, \dots, n).$$

From the previous statements it is clear that the case for $\lambda_0 = 1$ is a special one in the study of $P_\omega(\lambda_0)$ -solutions. This case is the subject of this work.

2. THE MAIN RESULT AND THE NECESSARY AUXILIARY STATEMENTS FOR ITS ESTABLISHMENT

We introduce the function $J_B(t)$, setting

$$J_B(t) = \int_B^t p^{\frac{1}{n}}(\tau) d\tau, \quad B = \begin{cases} a, & \text{if } \int_a^\omega p^{\frac{1}{n}}(\tau) d\tau = +\infty, \\ \omega, & \text{if } \int_a^\omega p^{\frac{1}{n}}(\tau) d\tau < +\infty. \end{cases}$$

The main result of this paper is the following

Theorem 2.1. *Let $\sigma \neq n$. Then for the existence of $P_\omega(1)$ -solution of the equation (1.1) it is necessary that for some $\mu \in \{-1, 1\}$ the inequality*

$$\alpha_0 \mu^n > 0 \tag{2.1}$$

and the condition

$$\lim_{t \uparrow \omega} |\pi_\omega(t) |p^{\frac{1}{n}}(t)| J_B(t)|^{\frac{\sigma}{n-\sigma}} = +\infty \tag{2.2}$$

hold. Moreover, each of these solutions admits the following asymptotic representations as $t \uparrow \omega$

$$\ln |y(t)| = \nu \left| \frac{n-\sigma}{n} J_B(t) \right|^{\frac{n}{n-\sigma}} [1 + o(1)], \tag{2.3}$$

$$\frac{y^{(k)}(t)}{y^{(k-1)}(t)} = \mu p^{\frac{1}{n}}(t) \left| \frac{n-\sigma}{n} J_B(t) \right|^{\frac{\sigma}{n-\sigma}} [1 + o(1)] \quad (k = 1, \dots, -1), \tag{2.4}$$

where

$$\nu = \mu \operatorname{sign} \left(\frac{n-\sigma}{n} J_B(t) \right).$$

If the function $p : [a, \omega[\rightarrow]0, +\infty[$ is continuously differentiable, and there exists the limit (finite or equal to $\pm\infty$)

$$\lim_{t \uparrow \omega} \frac{(p^{\frac{1}{n}}(t) |J_B(t)|^{\frac{\sigma}{n-\sigma}})' }{p^{\frac{2}{n}}(t) |J_B(t)|^{\frac{2\sigma}{n-\sigma}}}, \tag{2.5}$$

and if (2.1) and (2.2) hold, then the equation (1.1) has at least one $P_\omega(1)$ -solution which admits the asymptotic representations (2.3), (2.4) as $t \uparrow \omega$. If $\mu = 1$ and $\sigma > n$, then there exists $(n-1)$ -parametric family of solutions, if $\mu = 1$ and $\sigma < n$, then we get n -parametric family of solutions, if $\mu = -1$ and $\sigma < n$, then we obtain one parametric family of solutions.

To prove Theorem 2.1, we will use the following lemma which can be deduced from Lemmas 10.1–10.6 in [6].

Lemma 2.1. *Let $y : [t_0, \omega[\rightarrow \mathbb{R} \setminus \{0\}$ be an arbitrary $P_\omega(1)$ -solution of the equation (1.1). Then we have the following asymptotic relations:*

$$\frac{y^{(k)}(t)}{y^{(k-1)}(t)} \sim \frac{y'(t)}{y(t)} \quad (k = 1, \dots, n) \quad \text{as } t \uparrow \omega \quad (2.6)$$

and

$$\lim_{t \uparrow \omega} \frac{\pi_\omega(t)y^{(k)}(t)}{y^{(k-1)}(t)} = \pm\infty \quad (k = 1, \dots, n). \quad (2.7)$$

Along with this lemma, we will also need the next result on the existence of vanishing at infinity solutions of a system of quasi-linear differential equations

$$\begin{cases} v'_k = \beta_0 \left[f_k(\tau, v_1, \dots, v_n) + \sum_{i=1}^n c_{ki}v_i + V_k(v_1, \dots, v_n) \right] & (k = 1, \dots, n-1), \\ v'_n = H(\tau) \left[f_n(\tau, v_1, \dots, v_n) + \sum_{i=1}^n c_{ni}v_i + V_n(v_1, \dots, v_n) \right], \end{cases} \quad (2.8)$$

in which $\beta_0 \in \mathbb{R} \setminus \{0\}$, $c_{ik} \in \mathbb{R}$ ($i, k = 1, \dots, n$), $H : [\tau_0, +\infty[\rightarrow \mathbb{R} \setminus \{0\}$ is a continuous function, $f_k : [\tau_0, +\infty[\times \mathbb{R}_\frac{1}{2}^n$ ($k = 1, \dots, n$) are continuous functions satisfying the conditions

$$\lim_{t \uparrow \omega} f_k(\tau, v_1, \dots, v_n) = 0 \quad \text{uniformly in } (v_1, \dots, v_n) \in \mathbb{R}_\frac{1}{2}^n, \quad (2.9)$$

where

$$\mathbb{R}_\frac{1}{2}^n = \left\{ (v_1, \dots, v_n) \in \mathbb{R}^n : |v_i| \leq \frac{1}{2} \quad (i = 1, \dots, n) \right\},$$

and $V_k : \mathbb{R}_\frac{1}{2}^n \rightarrow \mathbb{R}$ ($k = 1, \dots, n$) are continuously differentiable functions such that

$$V_k(0, \dots, 0) = 0 \quad (k = 1, \dots, n), \quad \frac{\partial V_k(0, \dots, 0)}{\partial v_i} = 0 \quad (i, k = 1, \dots, n). \quad (2.10)$$

By Theorem 2.6 of [8], for a system of the differential equations (2.8), we have the following

Lemma 2.2. *Let the function $H : [\tau_0, +\infty[\rightarrow \mathbb{R} \setminus \{0\}$ be continuously differentiable and satisfy the following conditions:*

$$\lim_{\tau \rightarrow +\infty} H(\tau) = 0, \quad \lim_{\tau \rightarrow +\infty} \frac{H'(\tau)}{H(\tau)} = 0, \quad \int_{\tau_0}^{+\infty} H(\tau) d\tau = \pm\infty, \quad (2.11)$$

and the matrices $C_n = (c_{ki})_{k,i=1}^n$ and $C_{n-1} = (c_{ki})_{k,i=1}^{n-1}$ are such that $\det C_n \neq 0$, and C_{n-1} has no eigenvalues with a zero real part. Then the system of differential equations (2.8) has at least one solution $(v_k)_{k=1}^n : [\tau_1, +\infty[\rightarrow \mathbb{R}_\frac{1}{2}^n$ ($\tau_1 \geq \tau_0$), which tends to zero as $t \rightarrow +\infty$.

Moreover, if among the eigenvalues of the matrix C_{n-1} there are m eigenvalues (taking into account multiplicity), the real parts of which have opposite sign to β_0 , then the system (2.8) has m -parametric family of solutions if $H(\tau)(\det C_n)(\det C_{n-1}) > 0$, and $m+1$ -parametric family of solutions if the inequality holds in opposite direction.

3. PROOF OF THE MAIN THEOREM AND THE COROLLARY TO A LINEAR DIFFERENTIAL EQUATION

Proof of Theorem 2.1. Necessity. Let $y : [t_y, \omega[\rightarrow \mathbb{R} \setminus \{0\}$ be an arbitrary $P_\omega(1)$ solution of (1.1). Then, according to Lemma 2.1, the conditions (2.6) and (2.7) are satisfied. In view of (2.7), in a left neighborhood of ω ,

$$\text{sign} \left(\frac{y'(t)}{y(t)} \right) = \mu, \quad \text{where } \mu \in \{-1; 1\}. \quad (3.1)$$

Since from (1.1)

$$\frac{y^{(n)}(t)}{y(t)} = \alpha_0 p(t) |\ln |y(t)||^\sigma$$

and by (2.6)

$$\frac{y^{(n)}(t)}{y(t)} = \frac{y^{(n)}(t)}{y^{(n-1)}(t)} \cdot \frac{y^{(n-1)}(t)}{y^{(n-2)}(t)} \cdots \frac{y'(t)}{y(t)} \sim \left(\frac{y'(t)}{y(t)}\right)^n \text{ as } t \uparrow \omega,$$

then

$$\left(\frac{y'(t)}{y(t)}\right)^n = \alpha_0 p(t) |\ln |y(t)||^\sigma [1 + o(1)] \text{ as } t \uparrow \omega.$$

Hence, in view of (3.1), it is clear that the inequality (2.1) holds, and so we have the asymptotic relation

$$\frac{y'(t)}{y(t) |\ln |y(t)||^{\frac{\sigma}{n}}} = \mu p^{\frac{1}{n}}(t) [1 + o(1)] \text{ as } t \uparrow \omega. \quad (3.2)$$

Since $\sigma \neq n$, therefore, integrating this relation from t_y to t and taking into account the definition of $P_\omega(1)$ -solution, we find that

$$|\ln |y(t)||^{\frac{n-\sigma}{n}} \operatorname{sign}(\ln |y(t)|) = \frac{\mu(n-\sigma)}{n} J_B(t) [1 + o(1)] \text{ as } t \uparrow \omega.$$

Thus (2.3) holds. Taking into account (2.3), from (3.2) we obtain the representation

$$\frac{y'(t)}{y(t)} = \mu p^{\frac{1}{n}}(t) \left| \frac{n-\sigma}{n} J_B(t) \right|^{\frac{\sigma}{n-\sigma}} [1 + o(1)] \text{ as } t \uparrow \omega,$$

from which, by (2.6) and (2.7), it follows that the condition (2.2) holds and we have the asymptotic representation (2.4).

Sufficiency. Let $p : [a, \omega[\rightarrow]0, +\infty[$ be continuously differentiable function for which there is a finite or equal to $\pm\infty$ limit (2.5). We show that in this case, if the conditions (2.1) and (2.2) are satisfied, then the equation (1.1) has solutions defined in the left neighborhood of ω and admits as $t \uparrow \omega$ the asymptotic representations (2.3) and (2.4).

We choose arbitrary $a_0 \in]a, \omega[$. By (2.2) we get

$$\int_{a_0}^{\omega} p^{\frac{1}{n}}(t) |J_B(t)|^{\frac{\sigma}{\sigma-n}} dt = +\infty,$$

hence, taking into account the form of the function J_B , it follows that

$$\lim_{t \uparrow \omega} |J_B(t)|^{\frac{n}{n-\sigma}} = +\infty. \quad (3.3)$$

Next, we establish that the limit (2.5) is equal to zero. Assume the contrary. Then, by virtue of its existence,

$$\lim_{t \uparrow \omega} Q(t) = \begin{cases} \text{either } & \text{const} \neq 0, \\ \text{or} & \pm\infty, \end{cases} \quad (3.4)$$

where

$$Q(t) = \frac{(p^{\frac{1}{n}}(t) |J_B(t)|^{\frac{\sigma}{n-\sigma}})'}{p^{\frac{2}{n}}(t) |J_B(t)|^{\frac{2\sigma}{n-\sigma}}}.$$

Integrating the function Q from a_0 to t , we obtain

$$\int_{a_0}^t Q(\tau) d\tau = -\frac{1}{p^{\frac{1}{n}}(t) |J_B(t)|^{\frac{\sigma}{n-\sigma}}} + C, \quad (3.5)$$

where C is a constant. If $\omega = +\infty$, then $\pi_\omega(t) = t$, and in this case, by (2.2), we have

$$\lim_{t \rightarrow +\infty} \frac{\int_{a_0}^t Q(\tau) d\tau}{t} = 0.$$

However, this is impossible since by the de L'Hospital's rule and (3.4),

$$\lim_{t \rightarrow +\infty} \frac{\int_{a_0}^t Q(\tau) d\tau}{t} = \lim_{t \rightarrow +\infty} Q(t) \neq 0.$$

If $\omega < \infty$, then $\pi_\omega(t) = t - \omega$ and by (2.2)

$$\lim_{t \uparrow \omega} p^{\frac{1}{n}}(t) |J_B(t)|^{\frac{\sigma}{n-\sigma}} = +\infty.$$

Therefore, from (3.5) it follows that

$$\lim_{t \uparrow \omega} \int_{a_0}^t Q(\tau) d\tau = C.$$

Due to this condition, the equation (3.5) can be rewritten as

$$\int_{\omega}^t Q(\tau) d\tau = -\frac{1}{p^{\frac{1}{n}}(t) |J_B(t)|^{\frac{\sigma}{n-\sigma}}}.$$

Dividing this relation by $\pi_\omega(t)$, taking then the limit as $t \uparrow \omega$ and using (2.2) we obtain

$$\lim_{t \uparrow \omega} \frac{\int_{\omega}^t Q(\tau) d\tau}{t - \omega} = 0.$$

However, the last equality is impossible because the limit owing to the de L'Hospital's rule and (3.4), is nonzero. Therefore, the assumption that the limit (2.5) is not equal to zero was incorrect.

Now, applying to the equation (1.1) the transformation

$$\begin{aligned} \frac{y^{(k)}(t)}{y^{(k-1)}(t)} &= \mu p^{\frac{1}{n}}(t) \left| \frac{n-\sigma}{n} J_B(t) \right|^{\frac{\sigma}{n-\sigma}} [1 + v_k(\tau)] \quad (k = 1, \dots, n-1), \\ \ln |y(t)| &= \nu \left| \frac{n-\sigma}{n} J_B(t) \right|^{\frac{n}{n-\sigma}} [1 + v_n(\tau)], \quad \tau = \left| \frac{n-\sigma}{n} J_B(t) \right|^{\frac{n}{n-\sigma}}, \end{aligned} \quad (3.6)$$

we obtain the following system of differential equations:

$$\begin{cases} v'_k = \mu (1 + v_k) [v_{k+1} - v_k - \mu h(\tau)] \quad (k = 1, \dots, n-2), \\ v'_{n-1} = \mu \left[\frac{|1 + v_n|^\sigma}{(1 + v_1) \cdots (1 + v_{n-2})} - (1 + v_{n-1})^2 - \mu h(\tau) (1 + v_{n-1}) \right], \\ v'_n = g(\tau) (v_1 - v_n), \end{cases} \quad (3.7)$$

in which

$$g(\tau(t)) = \left| \frac{n-\sigma}{n} J_B(t) \right|^{-\frac{n}{n-\sigma}}, \quad h(\tau(t)) = \frac{(p^{\frac{1}{n}}(t) \left| \frac{n-\sigma}{n} J_B(t) \right|^{\frac{\sigma}{n-\sigma}})' }{p^{\frac{2}{n}}(t) \left| \frac{n-\sigma}{n} J_B(t) \right|^{\frac{2\sigma}{n-\sigma}}}.$$

We will consider this system on the set $[\tau_0, +\infty[\times \mathbb{R}_{\frac{1}{2}}^n$, where

$$\tau_0 = \left| \frac{n-\sigma}{n} J_B(a_0) \right|^{\frac{n}{n-\sigma}}, \quad \mathbb{R}_{\frac{1}{2}}^n = \left\{ (v_1, \dots, v_n) \in \mathbb{R}^n : |v_k| \leq \frac{1}{2} \quad (k = 1, \dots, n) \right\}.$$

By (3.3) and the fact that the limit (2.5) is equal to zero as established above, we have

$$\lim_{\tau \rightarrow +\infty} g(\tau) = \lim_{t \uparrow \omega} g(\tau(t)) = 0, \quad \lim_{\tau \rightarrow +\infty} h(\tau) = \lim_{t \uparrow \omega} h(\tau(t)) = 0. \quad (3.8)$$

Moreover,

$$\int_{\tau_0}^{+\infty} g(\tau) d\tau = \frac{n}{n-\sigma} \int_{a_0}^{\omega} \frac{p^{\frac{1}{n}}(s) ds}{J_B(s)} = \frac{n}{n-\sigma} \ln |J_B(s)| \Big|_{a_0}^{\omega} = \pm\infty. \quad (3.9)$$

By separating linear parts in the equations of the system (3.7), we obtain a system of differential equations (2.8) in which

$$\begin{aligned} \beta_0 &= \mu, & H(\tau) &= g(\tau), & f_k(\tau, v_1, \dots, v_n) &= -\mu(1+v_k)h(\tau) \quad (k=1, \dots, n-1), \\ f_n(\tau, v_1, \dots, v_n) &\equiv 0, & V_k(v_1, \dots, v_n) &= v_k v_{k+1} - v_k^2 \quad (k=1, \dots, n-2), \\ V_{n-1}(v_1, \dots, v_n) &= \frac{|1+v_n|^\sigma}{(1+v_1)\cdots(1+v_{n-2})} + \sum_{i=1}^{n-2} v_i - v_{n-1}^2 - \sigma v_n, & V_n(v_1, \dots, v_n) &\equiv 0, \\ c_{kk} &= -1, & c_{kk+1} &= 1, & c_{ki} &= 0 \text{ for } i \neq k, k+1 \quad (k=1, \dots, n-2), \\ c_{n-1i} &= -1 \quad (i=1, \dots, n-2), & c_{n-1n-1} &= -2, & c_{n-1n} &= \sigma, \\ c_{n1} &= 1, & c_{ni} &= 0 \quad (i=2, \dots, n-1), & c_{nn} &= -1. \end{aligned}$$

Here the functions V_k ($k=1, \dots, n$) satisfy (2.10) and by (3.8) and (3.9) the conditions (2.9) and (2.11) hold. Furthermore, for the matrices $C_{n-1} = (c_{ki})_{k,i=1}^{n-1}$ and $C_n = (c_{ki})_{k,i=1}^n$, we find

$$\det C_n = (-1)^{n+1}[\sigma - n], \quad \det[C_{n-1} - \rho E] = (-1)^{n+1} \sum_{k=1}^n (1+\rho)^{k-1}.$$

Therefore, $(\det C_n)(\det C_{n-1}) = n(\sigma - n)$ and the characteristic equation of the matrix C_{n-1} has the form

$$\sum_{k=1}^n (1+\rho)^{k-1} = 0.$$

The roots of this equation differ from the roots of $(1+\rho)^n = 1$. Clearly, all such roots have negative real parts.

Hence, taking into account the condition $\sigma \neq n$, it is clear that the system of differential equations (3.7) satisfy all the conditions of Lemma 2.2. On the basis of this lemma, the given system of differential equations has at least one solution $(v_k)_{k=1}^n : [\tau_1, +\infty[\rightarrow \mathbb{R}^n$ ($\tau_1 \geq \tau_0$), which tends to zero as $\tau \rightarrow +\infty$. Moreover, if $\mu = 1$ and $\sigma > n$, there exist $(n-1)$ -parametric family of such solutions and n -parametric family in case $\mu = 1$ and $\sigma < n$. If $\mu = -1$ and $\sigma < n$, there exists one-parametric family of solutions. Each such solution of the system (3.7) by virtue of the substitutions (3.6) corresponds to y -solution of the differential equation (1.1), which admits the asymptotic representations (2.3), (2.4) as $t \uparrow \omega$. It is not difficult to see that using the conditions (2.1) and (2.2) any of these solutions is a $P_\omega(1)$ -solution. \square

From this theorem we get the following corollary for the linear differential equation (1.3).

Corollary 3.1. *For the existence of $P_\omega(1)$ -solution of the differential equation (1.3), it is necessary, and if the function $p : [a, \omega[\rightarrow]0, +\infty[$ is continuously differentiable and $\lim_{t \uparrow \omega} p'(t)p^{-\frac{n+1}{n}}(t)$ is finite or equal to $\pm\infty$, then it is sufficient that for some $\mu \in \{-1; 1\}$, the inequality (2.1) holds and the condition*

$$\lim_{t \uparrow \omega} p(t)|\pi_\omega(t)|^n = +\infty \quad (3.10)$$

is fulfilled.

Moreover, for each of these solutions there take place the following asymptotic representations as $t \uparrow \omega$:

$$\ln |y(t)| = \mu J_B(t)[1 + o(1)],$$

$$\frac{y^{(k)}(t)}{y^{(k-1)}(t)} = \mu p^{\frac{1}{n}}(t)[1 + o(1)] \quad (k = 1, \dots, n-1),$$

whereas, for $\mu = 1$, there exists an n -parametric family of $P_\omega(1)$ -solutions for this representation, and for $\mu = -1$, there exists one-parametric family of solutions.

This corollary complements the results given in [9, Chapter 1, § 6] on the asymptotic behavior of solutions of linear differential equations. In view of (3.10), it does not refer to the cases where the differential equation (1.3) is asymptotically close to the Euler equation and the equation with almost constant coefficients.

REFERENCES

1. M. J. Abu Elshour, Asymptotics of solutions of nonautonomous second-order ordinary differential equations close to linear equations. *Nonlinear Oscill.* **11** (2008), no. 2, 242-254.
2. M. J. Abu Elshour, Asymptotic representations of the solutions of a class of the second order nonautonomous differential equations. *Mem. Differential Equations Math. Phys.* **44** (2008), 59-68.
3. M. J. Abu Elshour, Asymptotic representations of solutions of second order nonlinear differential equations. *Int. Math. Forum* **4** (2009), no. 17-20, 835-844.
4. M. J. Abu Elshour, Asymptotic behavior of solutions of nonautonomous ordinary differential equations of n -th order. *International Mathematical Forum* **9** (2014), no. 13, 593-604.
5. M. J. Abu Elshour and V. M. Evtukhov, Asymptotic representations for solutions of a class of second order nonlinear differential equations. *Miskolc Math. Notes* **10** (2009), no. 2, 119-127.
6. V. M. Evtukhov, Asymptotic representations of the solutions of nonautonomous ordinary differential equations. *Diss. Doctor. Fiz.-Mat. Nauk., Kiev*, 1998, 295 pp.
7. V. M. Evtukhov and M. J. Abu Elshour, Asymptotic behavior of solutions of second order nonlinear differential equations close to linear equations. *Mem. Differential Equations Math. Phys.* **43** (2008), 97-106.
8. V. M. Evtukhov and A. M. Samoilenko, Conditions for the existence of solutions of real nonautonomous systems of quasilinear differential equations vanishing at a singular point. *Ukrainian Math. J.* **62** (2010), no. 1, 56-86.
9. I. T. Kiguradze and T. A. Chanturia, Asymptotic properties of solutions of nonautonomous ordinary differential equations. Translated from the 1985 Russian original. *Mathematics and its Applications (Soviet Series)*, 89. *Kluwer Academic Publishers Group, Dordrecht*, 1993.

(Received 10.07.2015)

Author's address:

Faculty of Science, Department of Mathematics, Al al-Bayt University, Mafraq, Jordan.
E-mail: drmousa67@yahoo.com